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TN HERE = 1 47, 710, 195
LT = 1 36, 185, 400
HERS b= T = 1 1,643,400 |$@H] 6, 000 m3
THp A7 iy L EEM 5, 000m3LL 10,
000m3 AT ;
P v T = 1 34,542, 000 | T-Hh S EH 1 X
0 Cabl- EHIRY £5Te) ;
¥ LWLy 1 X
A E T # 1 4,014, 000
2/ =p7 " my ) T (R EA7 vy ) 5R) 7 1 4,014,000 |fE17 ny/5R 200 m2
150kg/{EAT 122 350mm VEHEH7 FEAEREA R
C-40 18-8-40 (#FifF) WEAKY—ME ;
FRIE D T = 1 1, 552, 000
FR[E 67 ry) T = 1 1,552,000 |4&F5EFR 80 £
2t (BHAERERD BEAM ;
BB T 2 1 1, 242, 150
TA7 7 Ml T X 1 1,242,150 | T@EME (BE - BRIE D) 500 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 500 m2
AR EET 22 (20) &H%EE 50mm 3. Omid ;
LEFEAET £ 1 1, 378, 900
PARBRAR T2 = 1 1,378,900 |{&kA-{&k7r 10, 000 m2
AR (NI T HD)
SEFEAEA S 10, 000 m2
AT 100 m3
ICEER = 1 562, 150
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JEESRALERE T = 562, 150 | HEFE BB ALE] 1, 000 m2
HEAE BB ST ULE (Bl ) 50 m3
VU%ax ¢ 60 m3
AL
SN AL T =Y 389, 012
S BLERESE T Y 389,012 |hnaEsE 1 =X
VU%ax ¢ 1 F2V
AL
A Y 2, 386, 583
8 RAEY) T = 905,583 |+mdH 1 =
(KA (RE)
it R o 5 (2. 0t/)
A ERE E T = 1,481,000 |ASiEAE 20 5 1 =
[ERAE Xy = 47,710, 195
HiE 2 = 3, 315, 000
Mo R 2 = 369, 000
BGRESCGES (5 1) = 369, 000
B (FEHL) = 2,946, 000
T = 51, 025, 195
Bl gy = 11, 507, 000
T =5l = 62, 532, 195
— R A = 8, 587, 805
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